1097 - 100 =

1 mark

146 x 2 =

1 mark

7.1+1.6=

1 mark




42 x 2 =

1 mark

616 + 742 =

1 mark

6x4=

1 mark




302 -8 =

1 mar

1.6 +4.26 =

1 mar

3x6x4-=

1 mar




o lw
+
O |
I

1 mark

420 +6 =

1 mark

12.8 x 10 =

1 mark




14

1 mark

40,000 - 600 =

1 mark

= 1600

1 mark
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17

4,200 + 60 =

1 mark

30% of 1,200 =

1 mark

1.23 x5 =

1 mark
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N [
I
o

1 mark

29,347 + 64,210 =

1 mark

1,778 + 7=

1 mark




18% =

100
1 mark
32
X 6 0
Show
your
method
1 mark
34+5.7=

1 mark




Show
your
method

2 marks

1 mark

10% of 110 =

1 mark




28

Show
your
method

69,347 - 24,290 =

1 mark

o o

2 marks

1 mark




8+96+2=

1 mark

w IN
N
1

1 mark

1 mark




